Y —4528AB Bk 20226 &
S LR
EREIES] 215 IEEETREGE 215 IEEEST
7/18@ BHIEG
1 10:00] BAEE 2 - 0 FE|B | BE= HEEfE 1400 XTI 0 - 3 KB | lEF #®%B
12200 | @R 4 - 1 EBAF | BBE WEB|16:00| IUE 5 - 3 BEB | KT X¥B
6/18@ BHIEG(6/18@) KT G(7/24®)
) 7/24® (1000 BAEE 7 - 0 #8¥B | & %M (1000 RI 4 - 0 HEEE | BR *x+B
11/3® 1200 BB 0 - 10 KHB | %I HEifE
BRAEILG(11/3R)=( 1230 | IURE 1 - 0 PRB/B | ®@  #H
4/23@® BHIEG(4/23®) KIG(10/1D)
3 | 10/1@ [1000| BAEE 1 - 0 HEEME | BE=E PEB(11;00| KI 3 - 2 #HEB | WLE *+8
1200 @R 1 - 2 CH@B | BE =3 EH | IUE EHA kB | RT #%B
5/14@ BAIEG (5/14@) HRG(5/15@)
4 | 5/15@ | 10:00 | BAIE IEHA ¥hB | T FEB|10:00| WE 6 - 0 HEE  ER #EB
1200 | kI IEHA FIEB | BE #khB| 1200 HEE 3 - 2 (BB | L@ EEE
5/21@ BAIEG HIRG
5 10:00] BIEE 8 - 0 I | U@ BEE | 1000 HESE 1 - 6 BHEB |%k$B BEB
1200 W@ 2 - 3 EE | BE | KT | 1200 ¥HB 0 - 4 FIEB |HEEsx #£EB
6/11@ BHIEG(6/11@) KT G(6/12@®)
6 | 6/12@ [ 1000| BATE 3 - 4 HE |®&Ef BFEB(10:00| WWE 3 - 1 KI |®x+B #BEB
1200 | BEfE 0 - 9 FIEB | BE BE | 1200 B 4 - 2 EHEB | WEH %I
6/25® BAIEG #B®RG
7 10:00| W@ 0 - 4 BAE | %*T | BHE |11:00| FR/B 0 - 3 {EHEB |EseE k4B
1200 %X 2 - 0 B | WU GAE | 1300 HEESE 0 - 7 KB |BEB #%EB
7/2® BHIEG XIG
8 10:00] BAEE 2 - 1 F@|B | W@ #®EB|10:00| ¥I 1 - 2 RhB | Ex HEE
1200 @B 3 - 4 #%B | BE WBB| 1200 EE 0 - 1 HEEE | KT K48
7/9@ J\EG
9 10000 W@ 1 - 3 FIEB | BIE #*EB| 1400 KT 4 - 2 HEEEfE | BEBRE Xx+B
12200 BIEE 3 - 1 #B%B | W@ B2B| 1600 | HE - 9 B | KT =gt
7/16@® BAIEG *IG
10 10:00| BAIE 12 - O [HEEfE | E= PEB|1000| RKI 0 - 4 #EHEB | UE KB
1200 B O - 12 FIRB | BIE ®EfE| 1200 | [UFEg - 4 KB | kI #®®:B
8/21® HIRG
1 930 | IUEg 8 - 0 HEEESE | BAE k+B|1330| (I 0 - 5 FIRBB | BR #BEB
11:30| BAEE 3 - 1 B | U@ ®eE) 1530 | SH®E 3 - 10 #EHEB | kT HEB
8/21® BEEALEG(9/19) J\BEG(8/27)
12 | 9/19@® |1000| UEg 8 - 0 HE | WA s |1400| BEE 0 - 1 EBEB | e =@
12:00 | BAIE EHA KI | WuEg | JEE | 16:00 | KB HEHA FIERB |EEfE ©®WB
9/17® BAIEG *IG
13 1000 BAIEE 10 - 0 HH |@Ef ¥=E8|10.00| (LEF 4 - 0 KI |®+$B ®mE8
1200 | HE4E 0 - 7 FIEB | BE BEx | 1200 B 5 - 3 {BEB | WH  XI
9/24@® BHIEG
14 10:00| W@ 3 - 2 BAIE | %I | JBEHE | 1400 BHEESE 0 - 12 ¥rhB | PEB #£%EB
1200 X 7 - 1 EE | W@ | BE | 16:00| FIEB - 5 (BB |E#fE k4B




Y2A 1FiA= 2B IE KRITE BEEER KiRBEEE KR A&B FIEB EE®B Boa|Ba | kE| = [[[=fiva
X @) X O A X X
08:;43?:?125:;36;:8042:3418:$33;:24
Wi 5 5 5 5 5 o) 25148 |24 | 24 3
1 -1 0-0 3-0 4-0 = 0 -0 0 - 2
3— 2 |4[9—oi0| 8 E=210| 8 -—2tojo—— o |1 —2 0|5 —2 3
O O X O O O O
4;:80 82:8035:341?:80352?122:?1 7§:go
WRSBIIE - 5 5 5 5 30 |5710(47| 1
1 -1 = 5 -0 4-0 = 1 - 0 1 -
2013 oF—— 0|10 2=Jo|123=2olo—— 0 |2— 0|3 —21
X X O O X X
1?:1308:28 2::304f:}21?:§203:§5og:?4
RRT & - 5 5 — o) 15 (22|34 |-12 6
0-0 = 3 - 1 1-0 0 - 1 = 2 - 1
03 —24lo— o TE=1] 4 H—afolofe—3{ 30— 0|3 EF—1>2
@) @) X X x @)
3;:524g:f308:]2 08:(‘)108:‘5‘91(‘):523;:22
EER — — 5 - ” - 12 (19|79 (-60| 7
0 -3 0-5 1-3 1-0 0 - 4 0 - 4 1 - 6
0 d—2f8lod—2 1011 —3t7 4 =100 03— 12| 3 H——o110
X X O X X
) 03:2608:?12}:1418:30 08:2708‘§91é:26
KRB = — = - - 3|5 (81/|-76 8
0 -4 0 -4 0 -1 0 -1 0 - 4 0 - 2 0 - 0
ofd—2islod—a12|0td 4| 1 2 —T4 ol —H2lo—2& 7|0 2 =21
A X O O O X O
43:541?:5323:?192:8072:80 08:?44?:22
KRB e} O e O 25 | 57 17 | 40 2
= = 1-0 4 -0 4-0 = 2 -
o——folo—— o |3sH—fo[10E=2lo| 12 =0 o—— o |52 —53
(@) X O O O O %
3?:(‘)11?:225§:802§:(‘)19§:804?:80 og:gs
FEB — — 5 5 = 21 |147(15|32| 4
0-0 0 -1 4 -0 2 -0 = 2 - 3
03 =21 o= 2 [o}——fo|12(2=Jo| 7 F=Tojo—— o s
O X O X O X O
42:;308:2741:8022:;36‘2‘:(‘)12‘2’:?433:80
BmEs — — 5 5 x 5 2114641 | 5 5
2 -0 0 -1 1 - 6 - 1 0-0 2 - 2 3 - 2
3251 2= 3 |2—Hs|10i 13| 1 P=Jo|3F—X 5 |50 —21 4




N4Q
2|

8

[SJEN

o

S|o|o

S|o|w

] ] e Bl L
C

=IEE

o

o o 2

il
1
H

o

NE [V %

OS|o|w||o|a|s

A

fi

B

\a
| e (|28 | e o
0|0 |00 ||

e Ioge [ [ | sge e
B sl ol Fl Fol ol

=l iEEE

E|EEEE

Bi]

o N 2

S 5[5 il

stz bt e tad fd bl el g bt bl ) Pt bl el g b g

[ K ke [ 8 ke [ 8 ke [ 28 [ [ 2 e e




